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Bravara Corporation

Income Statement

For the Year Ended December 31, 2000

Net Sales


$1,200,000

Cost of merchandise sold



410,000

Gross profit


$
790,000

Operating expenses:


Salaries expense

$300,000


Utilities expense

170,000


Advertising expense

60,000


Depreciation expense

43,000


Miscellaneous expense


37,000

610,000

Income before income tax


$
180,000
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NET INCOME VS. TAXABLE INCOME

The income statement for Gibson Corporation's year ended December 31, 2000, is as follows:

Net Sales


$500,000

Cost of merchandise sold



200,000
Gross profit


$300,000

Operating expenses:


Salaries expense

$75,000


Utilities expense

30,000


Warranty expense

10,000


Depreciation expense

15,000


Other expense


8,000

138,000

Income before income tax


$162,000

Gibson has the following temporary differences:

1.
Straight-line depreciation is used when preparing financial statements. Accelerated depreciation is used for tax purposes. Gibson's depreciation expense for the year under accelerated methods is $27,000.

2.
The amount shown on the financial statements for warranty expense is the estimated cost of warranty repairs that will be made on all units sold this year. However, Gibson spent only $6,000 on warranty repairs this year. Warranty expenses must be paid in order to deduct them when preparing a tax return.

Required:

1.
Calculate the amount of taxable income that will be reported on Gibson's tax return.

2.
Assume that Gibson's tax rate is 40%. Calculate the income taxes that will be paid now, based on Gibson's taxable income.

3.
Calculate the income taxes that Gibson would have paid if the amount shown as "Income before Income Tax" on the financial statements was the amount on which Gibson was taxed.

4.
Compute the taxes that Gibson has deferred to future years. This is the difference between the numbers you calculated in #2 and #3.

5.
Prepare the journal entry to record Gibson's income taxes (you may want to refer to page 502 of the text).

6.
Complete Gibson's 2000 income statement, starting with Income before Income Tax.
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INCOME STATEMENT


Net Sales

(
Cost of Merchandise Sold






Gross profit

(
Operating Expense (Selling and Administrative)





Income from Operations

+
Other Income (e.g., Interest, Rent)

(
Other Expense (e.g., Interest)







Income from Continuing Operations before Tax
(
Income Tax Expense







Income from Continuing Operations*

+/(
Gain or Loss on Discontinued Operations (net of tax)*

+/(
Extraordinary Items (net of tax)*

+/(
Cumulative Effect of a Change in Accounting Principle (net of tax)*

Net Income*


*Must show earnings per share data.
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PREPARATION OF AN 
INCOME STATEMENT

Starting with the subtotal “Income from Continuing Operations before Income Tax,” complete the income statement for Sigma Shoes, Inc. using the following information.

1.
Sigma’s income from continuing operations before income tax is $1.65 million.

2.
Sigma’s income tax rate is 40%.

3.
During the year, Sigma sold its casual shoe division so that the company could concentrate on athletic shoes. The casual shoe division had a $30,000 net loss for the year prior to its sale. Sigma realized a $195,000 gain on the sale of the division.

4.
A flash flood destroyed $70,000 worth of inventory in one of Sigma’s warehouses.

5.
Sigma decided to change from straight-line to declining-balance depreciation. If declining-balance depreciation had been used in prior years, Sigma would have recorded an additional $280,000 in accumulated depreciation.
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EARNINGS PER SHARE DATA FOR SIGMA SHOES, INC.

Income from continuing operations 

   ($990,000 – $60,000 / 100,000)….………………   $ 9.30

Gain on discontinued operations

   ($99,000 / 100,000)………………………...……..        .99

Income before extraordinary item and

    the cumulative effect of a change in 

    accounting principle…………………………… $ 10.29

Extraordinary item…………………………………       (.42)

Cumulative effect of a change in

    accounting principle……………………………     (1.68)

Net income ($879,000 - $60,000 / 100,000)……..  $  8.19 
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RETAINED EARNINGS STATEMENT

Parks Corporation

Retained Earnings Statement

For the Year Ended Dec. 31, 2000

Retained earnings, Jan. 1, 2000


$  50,000

Net income




   $100,000

Less dividends declared

    
30,000
Increase in retained earnings  


    70,000
Retained earnings, Dec. 31, 2000


$120,000
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STATEMENT OF STOCKHOLDERS'
EQUITY—TELDAR CORPORATION

The January 1, 2000 balances of Teldar Corporation's equity accounts are listed below:


Preferred Stock

$300,000


Common Stock

$800,000


Paid-In Capital—Common Stock

$
50,000


Retained Earnings

$240,000

During 2000, the following transactions affected Teldar's equity accounts:

1.
1,000 shares of $10 par value common stock were sold for $12 per share.

2.
500 shares of common stock were repurchased to be held as treasury stock. The cost to repurchase these shares was $6,000.

3.
Treasury shares costing $1,500 were reissued for $2,000.

4.
2000 net income was $170,000.

5.
Dividends totaling $30,000 were declared and paid to preferred stockholders; common dividends were $50,000.
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STATEMENT OF STOCKHOLDERS' EQUITY

Solution

Teldar Corporation

Statement of Stockholders' Equity

For the Year Ended December 31, 2000






Paid-In
Paid-In








Capital—
Capital—




Preferred

Common
Common
Treasury
Retained
Treasury





Stock


Stock


Stock


Stock

Earnings

Stock


Balance, January 1

$300,000
$800,000
$50,000
$
0
$240,000
$
0

Issued common stock


10,000
2,000

Purchased treasury stock






(6,000)

Reissued treasury stock




500

1,500

Net income





170,000

Preferred dividends





(30,000)

Common dividends










(50,000)



Balance, December 31

$300,000
$810,000
$52,000
$500        
$330,000     $4,500
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TEMPORARY INVESTMENTS

Portfolio of

Temporary


Market Value



Investments

Cost


1/31


2/28


3/31


4/30


Security A
$10,000
$10,000
$
9,000
$
9,000
$
9,900

Security B
5,000
5,400
5,200
5,000
5,100

Security C
22,000
21,900
22,100
22,100
22,300

Security D

8,000

9,500

8,600

8,100

8,400

Total
$45,000
$46,800
$44,900
$44,200
$45,700

Value Reported 
on Balance Sheet

Unrealized 

Gain/(Loss)
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BUSINESS COMBINATIONS

Three methods are used to combine businesses, as follows:

1.
Merger—One company purchases the assets and liabilities of another company. The acquired company is dissolved.

2.
Consolidation—Two companies transfer their assets and liabilities to a new corporation. Both of the original companies are dissolved.

3.
Parent-Subsidiary Relationship—One com-


pany purchases a controlling interest in another company by acquiring shares of its voting stock. Neither company is dissolved.
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STEPS TO CONSOLIDATE
INCOME STATEMENTS

1.
Eliminate any revenues and expenses resulting from intercompany transactions, including the following:


a.
Revenues on intercompany sales


b.
Cost of merchandise sold resulting from intercompany purchases


c.
Interest income or expense on intercompany loans


d.
Management fees or other costs charged by the parent and paid by the subsidiary

2.
Combine the remaining amounts for all revenue and expense accounts.
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CONSOLIDATED INCOME STATEMENTS

P Corp. sold merchandise to S Corp. for $1,000.  The merchandise cost P Corp. $400.  S Corp. sold the merchandise to a customer for $1,500.









        Consolidated







         Elimination
  Income




 P Corp.
S Corp.
   Entry          Statement
Sales

$100,000
$20,000





Cost of Merch. Sold
    30,000
    6,000





Gross Profit
$  70,000
$14,000





Operating Expenses     50,000
  10,000





Net Income
$  20,000
$  4,000




374

